PART NUMBER QTY. UNIT SUB URL

3DPA_BEARING_12X3.175_INNER
3DPA_BEARING_PIVOT_18X3.175_INNER
3DPA_BEARING_PIVOT_18X3.175 OUTER
3DPA_ENCODER_16T

3DPA_ENCODER_47T
3DPA_FLEX_T5M 32P BELT
3DPA_FRAME_CENTER

3DPA_FRAME_END

3DPA_FRAME_FRONT
3DPA_FRAME-MOUNT_TRAVEL_BOTTOM
3DPA_FRAME-MOUNT TRAVEL_ LH
3DPA_FRAME-MOUNT_TRAVEL_RH
3DPA_FRAME-MOUNT_TRAVEL_TOP
3DPA_GEARMOTOR_MOUNT

3DPA_LIMIT_ TRAVEL

3DPA_NUT 3.175D 4.5P 12PD
3DPA_NUT_RETAINER

3DPA_PIVOT

3DPA_PLUG_HOLDER
3DPA_SCREW_156-250 3.175D 4.5P 12PD
3DPA_SCREW_RETAINTER
3DPA_TSM_11T_DRIVER
3DPA_TSM_20_DRIVEN

.

- https://tinyurl.com/yywb6ao5

R RRRRRRRRRRRRRRRRRRRLRAIR
A A A A A tA tA tA A A A 1A 1A 1A 1A 1A 1A A A A A A
1

Bearing-Ball 3.175mm 179 $ 0.07 $ 13.32 https://www.mcmaster.com/9529k11
Encoder-PEC12R-4017F-N0@024-ND 1 $ 0.91 $ ©0.91 https://tinyurl.com/y26514ul
Gearmotor-003H21 1 $ 9.00 $ 9.00 https://tinyurl.com/y5dbkexq
Micro Limit Switch 2 $ 0.27 $ ©0.54 https://tinyurl.com/y42rb58x
Nut - M3 22 $ 0.02 $ ©0.35 https://www.mcmaster.com/90591a121
NUT-0.25-20 Sidelock 2 $ 0.05 $ ©0.10 https://www.mcmaster.com/900402029
NUT-M3 NYLOCK 4 $ 0.03 $ ©0.14 https://www.mcmaster.com/90576a102
PORT-CAT6 KEYSTONE (K3J8) 1 $ =
Screw-SHCS M3x0.5x010 14 $ 0.05 $ ©0.70 https://www.mcmaster.com/91292A113
Screw-SHCS M3x0.5x012 8 $ 0.05 $ ©0.40 https://www.mcmaster.com/91292A114
Screw-SHCS M3x0.5x025 2 $ 0.07 $ 0.14 https://www.mcmaster.com/91292A020
Screw-SHCS M3x0.5x030 4 $ 0.09 $ ©0.34 https://www.mcmaster.com/91292A022
SCREW-T5 M1.59x0.6x08mm 4 $ 0.24 $ 0.96 https://www.mcmaster.com/99397A022
THREADED ROD ©.25-20 X MIN TRAVEL + 21.5mm 6.75 $ ©0.08 $ 0.56 Local Hardware, Cut to length
DC DRIVER TB6612FNG 1 $ 4.50 $ 4.50 https://tinyurl.com/y2vdwjyn
Atmegal68 5v 16Mhz 1 $ 1.30 $ 1.30 https://tinyurl.com/yyg7blje

$ -

$ -

TOTAL $ 33.25



